TITLE: 2140

INTELLITOUCH / SECURE TOUCH/ NO TOUCH(W/ BEZEL)

M4 THREAD,
MAX. SCREW DEPTH Tmm FROM
MOUNT ING SURFACE. X6

633.7 —= = 47 6
(MAX . 44 6mm) - 100 s 100 -
| | [ - = ‘ — =
| t |
ol T ° °
15
D [ | ( Q ‘
I J
597.6 = ACTIVE AREA |
599 = BE/ZEL OPENING o ° o
—/
314 .4 ® 1 80 + — — — — 7 — {%HHB — SR - - _ — L q; 100
33615 = ACTIVE AREA (1
337.6 = BEZEL OPENING | o i o 9
o o
= r =

! | 4
@p [ [T o
é& ‘ ‘
| » |
I " ' M4 6mmV — — — =
202 % 16 K16 |
| ¢
SIDE MOUNT VERT ICAL
(LEFT/RIGHT) VESA MOUNT

= /9 350 15—
| FOR MULTI-TOUCH MODELS:

| RJ-45 0SD
LP e (o) ) e - ® - © (%) () e qsl CONNECTOR
o EILJ @@ o e

|

USB 12V DC
POWER IN

[TOUCH
SIDE MOUNT,HORIZONTAL : u ;
(TOP/BOTTOM) @(:ﬁ@ o(EH)o @ ll ﬂﬁ(

A 7\ ~ LTSN

-t D /

e ————

RJ-45 035D
CONNECTOR

R232 SERIAL DV | VGA —TOUCH USEH 12V DO
CONNECTOR\ POWER I N
B [
—— 7 a e\

alelelele D;

OPTIONAL OSD REMOTE P/N E483757

(I INCLUDED WITH TOUCH MONITOR)

MS60 1437

DIMENSIONS ARE IN MILLIMETERS SHEET | OF 5 DATE: 04/09/2013

REV: B




TITLE: 2140

INTELLITOUCH / SECURE TOUCH/ NO TOUCH(W/ BEZEL) ONLY

MOUNTING Wiltn ADJUSTABL DRACALTS (8 PROVIDED)

651 .2

392 .4

Re X 4

85 340 85 0669.7
@5 HOLES,
X8
10
J i
1
) 39 ) © @
M4 THREAD, @5 HOLES, 0
X8 X8
) I 0 0
o01.8 CJH
[ﬁ% {:J 406 .4
340 .4 o o o
B S 170 —¢ u—wug -
| =
89
RECOMMENDED CUSTOMER PANEL CUT-OUT . Coec@e 8 P

DIMENS TONS ARE IN MILLIMETERS

® ‘% ® chLb

MOUNTING BRACKET ADJUSTMENT RANGE:
-1 TO 14.5 (X8 PLACES)

MS60 1437

SHEET 2 OF 5 DATE: 04/09/2013

REV: B




TITLE: 2140
INTELLITOUCH / SECURE TOUCH/ NO TOUCH(W/ BEZEL) ONLY

OPer T TONAL FRONT MOUNT Be/el AT - P/N £289930

(ORDERED SEPARATELY, CUSTOMER ASOEMBLED )

666

41109

XLR8 x 4
-RONT MOUNT Br/tl

FRONT MOUNT ASS 7Y

%"

FRONT MOUNT PANEL BRACKETS X 8

4033 CINCLUDED WITH FRONT MOUNT KIT):

MOUNTING HOLES, X 16

| IF CUSTOMER PANEL IS WOOD,

@4 5MM THRU HOLES FOR M4 SCREWS OR

NO THRU HOLES, SCREWS FOR WOOD @ 4MM;

2. IF CUSTOMER PANEL S SHEET METAL,
CONCEALED HEAD THREADED STUDS M4 WITH NUTS;

RLCOMMENDED CUSTOMER PANEL CUT-OUI

DIMENS TONS ARE IN MILLIMETERS

BRACKETS ACCOMODATE PANEL THICKNESS =

2.5 10 [6MM

CUSTOMER PANEL

SHEET 3 OF O

2140 MONITTOR

MS60 1437

DATE: 04/09/2013

REV: B




od4. ¢

(EDGE OF GLASS)

TITLE:

2140

ITOUCH MODELS /NO TOUCH (ZB) ONLY

388 .4
(EDGE OF GLASS)

(CUT-OUT DIMS.
CUSTOMER PANEL)

39240 .4
(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

od1.8+0.4

FOR

6457

DIMENS TONS ARE

I[N MILLIMETERS

4-R9.3+0.3
(CUT-OUT DIMS. FOR
CUSTOMER PANEL)

—M4 THREAD,

MAX. SCREW DEPTH 6mm FROM

MOUNT ING SURFACE,

X3

40 .4
(MAX. 42 4mm)
98 .1
-
168
389 .4
I 1

\M4 THREAD,

MAX. SCREW DEPTH 6mm FROM

MOUNTING SURFACE,

X3

M4 THREAD,
MAX. SCREW DEPTH Tmm FROM

MOUNTING SURFACE,

X0

MS60 1437

SHEET 4 OF O

DATE: 04/09/2013

REV: B




TITLE: 2140

@\i‘f’:’L > ITOUCH MODELS /NO TOUCH (ZB) ONLY
(81) MOUNTING WITH ADJUSTABLE FLUSH BRACKETS (8 KITS IS PROVIDED) 016 T T e

NSTALLATION NOTES:

|
| ATTACH BRACKET "A" TO CUSTOMER PANEL "C" PER DRAWING
. > ATTACH BRACKET "B" TO BRACKET "A" WITH M4 HEX HEAD SCREWS "Bl
=) (INCLUDED)
\ s 3. ATTACH BRACKET "D" TO TOUCH MONITOR WITH M4 HEX HEAD SCREW "DI"
i — 7 (INCLUDED) <
Tl 4. PLACE ASSEMBLED TOUCH MONITOR INTO CUSTOMER PANEL OPENING TAKING CARE
i - NOT TO DAMAGE FOAM SEAL
[ 4. ADJUST DEPTH OF BRACKETS "B" SO MONITOR IS SLIGHTLY PROUD OF CUSTOMER

i PANEL (~1mm)
| 5. SECURE TOUCHMONITOR TO BRACKET "B" + "A" FROM BEHIND WITH M4 HEX
HEAD SCREWS "CI1" (INCLUDED)

SECTION V-V
SCALE 2.000

oy
S

1 |
‘//I 1 v/ ./ /[ [/

” i
N .
TOUCH SCREEN= TORI LAl (RECOMMENDED OFFSET OF

SECTION V-V TOUCH-SCREEN SURFACE)

SCALE 2.000

CUSTOMER PANEL CUT-OUT CUSTONER PANEL

MIN THICKNESS = 3mm
71 . MAX THICKNESS =1 8mm
85 34
ol @45 THROUGH HOLE, x16 426 .4 355
[ , FOR M4 THREADS ON BRACKET
4 =
8 \ 09 “ 647 840, 4
412.4 110 39240 .
MOUNT ING HOLES. X16
'F CUSTOMER PANEL IS METAL.
. BLIND HOLE, M4 THREADS
w
4-RY. 3403 __I
MS60143]
DIMENS IONS ARE IN MILLIMETERS SHEET 5 OF 5 DATE: 04/09/2013
REV: B




	Sheet 1
	Views
	new_view_25
	right_17
	right_18
	new_view_19
	bottom_20
	new_view_27
	new_view_48


	Sheet 2
	Views
	new_view_29
	new_view_24
	bottom_25


	Sheet 3
	Views
	new_view_31
	right_32
	new_view_33
	new_view_34


	Sheet 4
	Views
	new_view_36
	right_37
	right_38
	bottom_39


	Sheet 5
	Views
	new_view_41
	new_view_42
	new_view_43
	new_view_44
	new_view_45
	new_view_46
	new_view_47



